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QUESTION 1

Which of the following is the best practice to set a IBM Forms data element as read only?
A

B. on

C.

D.

Correct Answer: A

QUESTION 2

What is the difference between an xforms:model and an xforms:instance in an XFDL form?

A. An xforms:model is required in an XFDL form; but an xforms:instanceisn\\'t.

B. An xforms:instance is required in an XFDL form; but an xforms:model isn\\'t.

C. An xforms:model contains the instance data, binds, and submission information for the form.
D. An xforms:instance contains the instance data, binds, and submission information for the form.

Correct Answer: C

QUESTION 3

Mark is trying to position a FIELD_B relatively below FIELD_A. He is using the alignment tools but the option Relative
Align Below isgrayed out. What is the likely cause and how can Mark fix this?

A. He has selected FIELD_A first and, while holding the SHIFT key, selected FIELD_B. He should select the fields in
reverse order.

B. FIELD_A comes after FIELD_B in the build order. Mark should use the outline view to change the build order of the 2
fields and then redo the relative alignment

C. There is already an absolute positioning for FIELD_B. Mark should remove this first before trying the relative
alignment

D. FIELD_B currently is laidout above FIELD_A on the design canvas. Mark should drag the FIELD_B below FIELD_A
first.

Correct Answer: B

QUESTION 4
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Given the following data instance,which XForms bind returns the value of the attribute "tax" of the item with the highest
tax?

<M=
<items:=

zitermn onsale="trug"=
“name=Apple</name:
<cost tax="0.12"=h</cost=

<fiterm:=

<itermn onsale="false"=
<fame=FPear</name:=
zcost tax="0"=4 50«</cost=

<fiterm:=

<itermn onsale="trug"=
zname:=Banana</name:=
=cost tad="0.75"=14=/cost=

<fitem:

zitermn onsale="trug"=
zname=Crange</name:
<cost tax="0.1"=9 75</cost=

<fiterm:=

<fitems:=
=Sl

A. maximum(items/item/cost/@tax)
B. max(items/item/cost/@tax)

C. ceiling(items/item/cost/@tax)

D. upper(items/item/cost/@tax)

Correct Answer: B

QUESTION 5

Which of the following XForms items/events CANNOT be used to trigger an XForms action?
A. Button item.

B. A change inthe XForms model.

C. DOMActivate event.

D. ButtonActivate event.

Correct Answer: D
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